N = 0l & AF & F Al A

A HA2SEHY
HH: of2g B L HIMI(B#ZES/ Aotz - =F)
& BHIIZANE EE (ehel: =3
_ - HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
ge2Ed 320,353,895 267,996,498 52,357,397
2 252,109,075
2 54,518,000
pJ 82,825
= 13,643,995
U2 28 L INMD(BHEBS/46I+E - 7)) 320,307, 160 267,954,263 52,352,897
2 252,109,075
= 54,518,000
pJ 82,825
= 13,597,260
SEHIEAL &5 241,304,760 203,768, 168 37,536,592
2 232,829,000
= 8,475,760
SAIZAL 29 - 22 17,960 19,900 A 1,940
201 Let2d| 4,760 6,400 A 1,640
01 Ar22+2/H] 4,760 6,400 A1,640
OFII=ANE 2HNEE 4,200
OZII=ANE EAHNE/ANE 2 560
202 ol 12,500 12,500 0
01 SUWHYI 12,500 12,500 0
OSZI AL 2el & NEEH 12,500
301 LErEA3 700 1,000 300
10 BHAIAHI 243 700 1,000 A300
OEII=ANE 2HNEREE 23 700
HOlGt4R2IAlE AXIXR(2D) 150,800 273,368 A 122,568
2 116,000
= 34,800
403 XXM SA=01d 150,800 273,368 N 122,568
= 116,000
== 34,800
01 XIXSHMA2LEE 150,800 273,368 A 122,568
OMelIGte HM2lAlE AX 150,800
2 116,000
== 34,800
SLH2AEAY(2D) 494,000 3,384,000 2,890,000
2 494,000
403 XX SHHS X201 494,000 3,384,000 A2,890,000
2 494,000
01 XXSHA2LE 494,000 3,384,000 2,890,000
o=LX2AL &5 494,000
2 494,000
HAR SIS AE B5(21) 72,122,000 78,183,000 26,061,000
= 72,122,000




SN

X{ ZH -
o= -

ol BAIEAL BE e
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2

403 XX SHHSA=201H 72,122,000 78,183,000 26,061,000
= 72,122,000

01 AIXSHHMA2ER 72,122,000 78,183,000 26,061,000
OHAZ ST AIE &5 72,122,000
= 72,122,000

S otHdel ™ &X(=21) 1,197,000 1,326,000 A 129,000
= 1,061,000
== 136,000

403 XXX S K201 A 1,197,000 1,326,000 A 129,000
= 1,061,000
== 136,000

01 AXESHMA2EE 1,197,000 1,326,000 A 129,000
OHHL dl=Held &K 1,197,000
= 1,061,000
= 136,000

otxxeld E5(=21) 86,368,000 52,778,000 33,590,000
= 79,574,000
= 6,794,000

403 XXISHHE X201 86,368,000 52,778,000 33,590,000
= 79,574,000
= 6,794,000

01 AXIEHMA2EE 86,368,000 52,778,000 33,590,000
OdtE=Xel & &5 86,368,000
= 79,574,000
= 6,794,000

olx=Xeld giadela As(=1) 11,885,000 12,729,000 A 844,000
= 11,885,000

403 XXM SK=201H 11,885,000 12,729,000 A844,000
= 11,885,000

01 AXESHHMA2EE 11,885,000 12,729,000 A844,000
Odt=XHel & Blacdl= Ast 11,885,000
= 11,885,000

of4=2) HHI(21) 53,012,000 50,608,000 2,404,000
= 53,012,000

403 NXISHHS K20l 53,012,000 50,608,000 2,404,000
= 53,012,000

01 AXIESHMAZ2EE 53,012,000 50,608,000 2,404,000
Odt=2tH | 53,012,000
= 53,012,000

ol SXKel2 As(=21) 75,000 80,000 A5,000
= 75,000

403 XX SHHSKA=201H 75,000 80,000 A5,000
= 75,000

01 XIXIESHMAZ2E R 75,000 80,000 A5,000




SN

X{ ZH -
o= -

Ol BAIIZAL =HE ECH-E)
_ _ HE T
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_FOH Hlws2

Odt+2H Sitaela As 75,000
= 75,000

S0E Ot2ot4aE FHI(22) 8,860,000 2,620,900 6,239,100
= 7,367,000
= 1,493,000

403 XX SHHS =01 A 8,860,000 2,620,900 6,239, 100
= 7,367,000
= 1,493,000

01 HXSH=LEE 8,860,000 2,620,900 6,239, 100
Os0Z DISot+E FH| 8,860,000
= 7,367,000
= 1,493,000

SIEBH Y BTLAME X2(2D) 7,123,000 1,384,000 5,739,000
= 7,123,000

403 KX SHSIHZ0IH 7,123,000 1,384,000 5,739,000
= 7,123,000

01 XtXISHA X2 2 X 7,123,000 1,384,000 5,739,000
OB+ H Y| BILAIY LUE 7,123,000
= 7,123,000

SHHA N 20,014,825 12,898,239 7,116,586
= 18, 105,000
| 82,825
< 1,827,000

MEHSHE SRA(2D) 11,849,000 7,922,889 3,926,111
= 11,429,000
< 420,000

403 XX SHHS K201 A 11,849,000 7,922,889 3,926,111
= 11,429,000
= 420,000

01 RXISHAREE =X 11,849,000 7,922,889 3,926,111
OMEHGHE =2 11,849,000
= 11,429,000
= 420,000

HEQAMLAY(2D) 7,762,000 4,932,350 2,829,650
= 6,676,000
< 1,086,000

403 XX SHHS K201 H 7,762,000 4,932,350 2,829,650
= 6,676,000
= 1,086,000

01 HXSHELEE 7,762,000 4,932,350 2,829,650
OHIERY MUY 7,762,000
= 6,676,000
= 1,086,000

82 27 zel(=1) 116,175 25,000 91,175
p] 76,175
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SN HSSRHID
Hu: gte2 9F U INND(BYLS/HGLE - &
Sl SR JIXIAD (25l &2
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
01 eipE eyl 20,000 0 20,000
OM2H NEXA BY 20,000
401 AlAHIL = O] 15,000 15,000 0
01 Al&H] 15,000 15,000 0
ORMRHAL RIE4H 15,000
QMRHABE F4DTI 25,000 20,000 5,000
308 XHXIEHH SOl H 25,000 20,000 5,000
AEESEE! 25,000 20,000 5,000
ORMSHANES F4+123 25,000
OB 2 BN BZ 58,604,375 50,779,656 7,844,719
= 1,175,075
= 54,518,000
= 2,931,300
JFE D=2 B2 =X 113,300 449,100 335,800
201 LByl 1,200 2,000 £800
02 ZZ2Y| 1,200 1,200 0
o =yTHAE B3l 1,200
202 04t 12,100 12,100 0
01 =2Uloibl 2,100 12,100 0
ONLTAIL 22| S HRF 12,100
207 R Y 100,000 0 100,000
01 1P| 100,000 0 100,000
o24+2u2 B8N +Y 100,000
A4RESTY F0IXE(21) 1,085,075 986, 556 68,519
= 1,055,075
403 RHEISHHSR20|H 1,085,075 986, 556 68,519
= 1,085,075
01 MXSHRZ2E 1,085,075 986, 556 68,519
ON+HEE Y FoIX 1,085,075
= 1,055,075
HASE SUHS42 HSTRAL(2D) 90,000 120,000 30,000
= 90,000
403 XIS HSKZ0IH 90,000 120,000 30,000
= 90,000
01 MXSHAZSE 90,000 120,000 30,000
OHASE SUHS42 WS 90,000
= 90,000
IIEMELTIND £C2IIB AZAY(2D) 30,000 96,000 66,000
= 30,000
403 XX HSK=0I 30,000 96,000 66,000




A H2EBH Y
MM w22 EM U XM (#EES/AotEE - 2=8)
el olEE 2 O EE 232 (ool @
SN (B) - MBEAY - B2 0l aF ol Soe HDE2
= 30,000
01 RIXISHMAZ2E X 30,000 96,000 A 66,000
OJI=ME-ZI7 =22 HA 30,000
= 30,000
SEFAIA AL P (=210) 39,034,000 32,901,000 6,133,000
= 36,216,000
= 2,818,000
403 NXISHHSA20lH 39,034,000 32,901,000 6, 133,000
2 36,216,000
== 2,818,000
01 AIXSHHMA2EE 39,034,000 32,901,000 6,133,000
OS+HANS Alba Ny 39,034,000
= 36,216,000
== 2,818,000
AR2 S=EAAE JHEAIE(21D) 4,600,000 4,646,000 A46,000
= 4,600,000
403 XX SHHSKA=201H 4,600,000 4,646,000 A 46,000
= 4,600,000
01 AIXIESHHMAZ2E R 4,600,000 4,646,000 A 46,000
OALARBLEEAE NS 4,600,000
Z 4,600,000
DEFSEHeIANE(=ZD) 1,000,000 100,000 900,000
Z 1,000,000
403 MXISHHS K20 1,000,000 100,000 900,000
= 1,000,000
01 XXESHR=2ExR 1,000,000 100,000 900,000
ONEHA+ HelAH 1,000,000
= 1,000,000
Ab=or MRS AFH(Z1) 12,702,000 11,481,000 1,221,000
= 12,702,000
403 KMXISHMSA201H 12,702,000 11,481,000 1,221,000
& 12,702,000
01 XAXIESHMAZ2EE 12,702,000 11,481,000 1,221,000
Oat=2t MEIS 12,702,000
= 12,702,000
SI&A Z23HA 130,500 285,500 A 155,000
OIECi2 23384 =4 130,500 285,500 A 155,000
202 (4l 5,500 5,500 0
01 2| 5,500 5,500 0
O0IE0IE SH&EA JIRI| AIgEH 5,500
403 MXISHHSA20H 125,000 280,000 A 155,000
01 XXISHA 2L X 125,000 280,000 A 155,000
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